Y X .8 F  JAY COURTNEY COMPANY, INC

Maintenance for Jayco Thief Hatches

Before proceeding with maintenance on the thief hatch, consult your company’s safety and
operations manuals concerning the dangers involved with working on a thief hatch and
tank battery. USE EXTREME CAUTION!

Observe...
The operation of the thief hatch,is it holding pressure?
Does it relief pressure as set?
Clean...
Keep the gaskets and moving parts free of dirt and residue
Inspect...
The gaskets for wear, cracking and swelling; replace as needed
The aluminum seats on the base and plunger for damage and repair or replace as needed
Repair or Replace...
Replace gaskets with Jayco gaskets sets only
If H2S is present or other chemicals that react with the current gaskets, replace with
Vitone gasket sets
If ambient temperature is above 200 degrees F, replace gaskets with Vitone

Order Jayco parts from your local Oilfield Supply Company or Tank Manufacturer
The following pages will assist your selection of replacement parts

Please note that the parts list are in two time frames; before October 2011 and after October
2011 (current design).

Keep the thief hatch clean and inspect on a regular basis

If leaks persist, order the redesigned Jayco plunger assembly designed for greater sealing - part
no. JT1818S with Supreme65 (high grade Buna N) gaskets or JT1818V which has Vitone gaskets.

Page 1 Identifing the style of plunger for ordering replacement parts

Page 2 JT-8 Parts List for Jayco Hatches made prior to October 2011

Page 3 JT-20 Parts List for Jayco Hatches made prior to October 2011

Page 4 JT-8.1 Parts List for Jayco Hatches made after October 2011

Page 5 JT-20.1 Parts List for Jayco Hatches made after October 2011

Page 6 Expended view of the New Jayco Plunger with Part Numbers

Page 7 Information on the Redesigned Plunder Assembly for Jayco Thief Hatches

333627292830378 Viton® is a registered trademark of DuPont Dow Elastomers Print Date: October, 2012 MM102012

Post Office Box 20026 9412 Nichols Road Oklahoma City, OK 73156

800-654-9263 405-751-6903 www.jayco.org 24 hour Fax 405-755-7940



T N7 Y/
s /8 VvV & . H
iy 3 S/ JAY COURTNEY COMPANY, INC
&
QQ-O,\\ 0 Y g4
\@ (19 g 6 3 15 a i
Y v
D W
é@ Q 1
g 8
5 =
9 o
= 5%
\
e
BRI
| 8" |
. 15 i
Parts List for Jayco JT-8.1 Thief Hatch
D BASE .ottt JTBAT2 e, Aluminum
L o OO JTB1T8 i s Aluminum
@ Pressure/Vacuum Valve Complete ..........ccocvcvvevevevereeeceeeeeen, JTAB1BS e Aluminum
B LAlCN wssissnisss ssssscassinnnisissrnmmanivnsisossisimsasasonsnssrsmsormnssonsssmassasssssnsess JTB205 ..o Aluminum
x5 ® Pressure Gasket........ccoeoiveeeciieeceoieeeseeee e, JTA81BS e, Supreme65
Pressure Gasket (SOUr SEIVICE).......vvieiirrieienieseeneis JTIBIEV s Viton®
w5 @D VacUUM GASKEBL ..o JT1820S ..o Supreme65
Vacuum Gasket (SOUr SErviCe) ........covvevvereeeeerereeeeeeeennn, JTIB20V oo Viton®
BaSE GASKEL ..o s JTI810S oo Supreme65
Base Gasket (SOUr SErViCe) ......cvenirrireere e JTIBI0V oo Viton®
© WaShET (LOWET) ...ttt JTA8B5 e Aluminum
WasSher{UpBe) s mssmsmmramammmmmrnns s ns s JT0860 iwssssmissmnsmmmmrnis s Aluminum
© Screw HHTL 1/4-20 X 3/4 ....oovveirierseeeees s JTOB7T e Stainless
@ SEM 12X 2112 oot JT0850 ..., Aluminum
@ Vgher T8 comemmsmemmasmemmmmms s JT0855 ussussswsssissssmmsmssnmsssnsmsasamsussss Plated or Stainless
Spring, Pressure 4 0z (Plain) (Standard)..........cccoocreerviririeinnnn, JTO0835 ..o Plated
2 0Z (BIACK)....uveirrieeveieecee e JT0830 .. Stainless
6/0Z (Cream) s snsvmsmusssssas s JT0837 cosssusmmmmmospsmrmammmsmmarsm Stainless
8 0Z (Orange) ...c.evvererreereieeeeeerseeieee s JT0838 ... Stainless
12 0Z (WHItE) vvvvvvvveee e JTOBA6 ..., Stainless
16 0Z (BIUB) cvevvvcieecreeeee e, L Stainless
o @ SPriNG, VACUUM ...oecvecvceees et JTOB25 ..o e Stainless
LatCh ROIPIN .o V0130 e Zinc Plated
@ Push Nut, 1/4 (USE ONLY ONCE - THEN REPLACE) .................. JT0887
HINGE Pin (SHOM) e, JTOBT5 e Galvanized
Bolt, Top Assembly HHWL........cccccirineeee s JTOBET .o Zinc Plated
Washer, Internal Lock, BOtom ......ccveivicicieicnecces T8I 2 svssvinsmusmmnmsmssimsmasssamsn Stainless
IN KEEPING WITH, AND FOR THE PURPOSE OF PRODUCT IMPROVEMEN'T, JAYCO RESERVES THE RIGHT TO MAKE DESIGN CHANGES WITHOUT PRIOR NOTICE.
“* Repair Kit Viton® is a registered trademark of DuPont Dow Elastomers Bulletin Number 1015 12
Post Office Box 20026 9412 Nichols Road Oklahoma City, OK 73156

800-654-9263 405-751-6903 www.jayco.org 24 hour Fax 405-755-7940



JAY COURTNEY COMPANY, INC

IDENTIFING THE ORIGINAL STYLE PLUNGER
VERSE THE NEW STYLE PLUNGER

Original Jayco Plunger

To identify the older version of the
Jayco thief hatch plunger assem-

bly: the lower washer (6”) covers the
whole vacuum gasket and the alumi-
num casting is smooth with no guides
(shown above).

Notes:
Produced July 1986 to Sept 2011

This plunger assembly is no longer avalable.
Order the New Jayco Plunger for a replacement.
However parts for this Original Plunger are available
and listed on pages 2 and 3.

Use the following Plunger replacement upgrades

available in two gasket versions
JT818S FOR SUPREMEG5 TRIM
JT818V FOR VITON® TRIM

New Jayco Plunger

Identify the latest Jayco thief hatch
plunger assembly by the guides on the
aluminum casting and the smaller lower
washer (5”) which shows more of the
vacuum gasket (shown above).

Notes:
Produced October 2011 to present

Parts for this Plunger are listed on pages 4 and 5.

available in two gasket versions
JT818S FOR SUPREMEG5 TRIM
JT818V FOR VITON® TRIM

THE NEW ASSEMBLY CAN BE INSTALLED TO ENHANCE
PREEXISTING JAYCO HATCHES AND IS
INCLUDED IN ALL NEW JT-8.1 AND JT-20.1 HATCHES

Viton® is a registered trademark of DuPont Dow Elastomers

Post Office Box 20026

800-654-9263 405-751-6903

9412 Nichols Road
www.jayco.org

Oklahoma City, OK 73156
24 hour Fax 405-755-7940




AYC O JAYCO THIEF HATCH

JAY COURTNEY COMPANY, INC JT-8.1
MADE IN THE USA

THE PURPOSE OF THE THIEF HATCH 1S TO WORK IN TANDEM WITH THE VENT VALVE TO MINIMIZE THE ESCAPE OF LIGHT
ENDS OF CRUDE IN LEASE STORAGE BY MAINTAINING A PRESSURE ON THE TANK. A VACUUM RELIEF FUNCTION IS ALSO
STANDARD TO PREVENT A SUCTION OR DRAW DOWN FROM COLLAPSING THE TANK. THE THIEF HATCH PERMITS ACCESS
TO THE CONTENTS OF THE TANK FOR SAMPLING AND GAUGING. THE VENT VALVE SHOULD BE SET TO VENT PRESSURE
BEFORE THE THIEF HATCH.

JAYCO THIEF HATCHES ARE DESIGNED FOR OPTIMUM PERFORMANCE AND EASY CLEANING AND MAINTENANCE, WITH
STANDARD SETTINGS OF 4.0 OUNCE PRESSURE AND 0.4 OUNCE VACUUM WITH OPTIONAL SPRINGS FOR 2, 6, 8, 12
AND 16 OUNCE PRESSURE SETTINGS. BASE GASKET STANDARD WITH HATCH.

JT-8.1 SPECIFICATIONS PRESSURE SPRINGS
BASE AND LID SIZE: NOMINAL 8” ROUND

BOLT PATTERN: 16 HOLES AT 10 3/8” CIRCLE (API)

CONSTRUCTION: ALL ALUMINUM CASTINGS

SYSTEM OPERATIONS: SPRING LOADED PRESSURE AND VACUUM
STANDARD SETTINGS: 4 OZ. PRESSURE 0.4 OZ. VACUUM
GASKET MATERIAL: SUPREME65, BLACK VITON® OR BLUE VITON®
BASE GASKET: INCLUDED

APPROXIMATE SHIPPING WEIGHT: 14 LBS © VITON® IS A REGISTERED TRADEMARK OF DUPONT DOW ELASTOMERS

9412 NICHOLS ROAD ¢ PO BOX 20026 ¢ OKLAHOMA CITY, OK 73156

800-654-9263 « 405-751-6903 ¢ FAX 405-755-7940 « WWW.JAYCO.ORG




JAYC C) JAYCO PARTS LIST
JAY COURTNEY COMPANY, INC
MADE IN THE USA JT-8.1
o 10 LY\
15 .
s © @\ a
/ ®
- 8
=
O —
\ E i 7 5%
/lV 774\ 7
o
"o 0 6B
16 o
. 8 |
. 15%" {
1. BASE J18172 ALUMINUM
3. LD JT18176 ALUMINUM
4. PRESSURE/VACUUM VALVE COMPLETE JT1818S ALUMINUM
5. LATCH JT8205 ALUMINUM
** 6. PRESSURE GASKET JT1815S SUPREMEG5
PRESSURE GASKET (SOUR SERVICE) JT1815V VITON®
** 7. VACUUM GASKET JT1820S SUPREME&5
VACUUM GASKET (SOUR SERVICE) JT1820V VITON®
8. BASE GASKET JT1810S SUPREME&5
BASE GASKET (SOUR SERVICE) JTi810vV VITON®
9. WASHER (LOWER) JT1865 ALUMINUM
10. WASHER (UPPER) JT0860 ALUMINUM
11. SCREW HHTL 1/4-20 X 3/4 JT0871 STAINLESS
12. STEM 1/2X21/2 JT0850 ALUMINUM
13. WASHER 1/4 JT0855 PLATED
14. SPRING, PRESSURE 4 oz (PLAIN) (STANDARD) JT0835 PLATED OR SS
2 oz (BLACK) JT0830 STAINLESS
6 oz (YELLOW) JT0837 STAINLESS
8 oz (ORANGE) JT0838 STAINLESS
12 oz (WG JT0846 STAINLESS
16 oz (BLUE) JT0847 STAINLESS
** 15, SPRING, VACUUM JT0825 STAINLESS
16. LATCH ROLL PIN JV0130 ZINC PLATED
17. PUSH NUT, 1/4 (USE ONLY ONCE - THEN REPLACE) JT0887
18. HINGE PIN (SHORT) JT0875 GALVANIZED
BOLT, TOP ASSEMBLY HHWL JT0857 ZINC PLATED
WASHER, INTERNAL LOCK, BOTTOM JT0872 STAINLESS

IN KEEPING WITH, AND FOR THE PURPOSE OF PRODUCT IMPROVEMENT, JAYCO RESERVES THE RIGHT TO MAKE DESIGN CHANGES WITHOUT PRIOR NOTICE.
VITON® IS A REGISTERED TRADEMARK OF DUPONT DOW ELASTOMERS

** REPAIR KIT

BULLETIN NUMBER 1015 12

800-654-9263 * 405-751-6903 ¢ FAX 405-755-7940 ¢ WWW.JAYCO.ORG




